Test: Primary 4 - Term 4 Science (Henry Park)
Points: 70 points

Name:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Score:




Question 1 of 60

Booklet A (28 x 2 marks)
For each question from 1 to 28, four options are given. One of them is the correct

answer.

Primary 4 Science (Term 4)

Which organ system is shown in the diagram?

A)
B)
C)
D)

digestive system
muscular system
circulatory system

respiratory system

2 pts



Question 2 of 60 Primary 4 Science (Term 4) 2 pts

Sludy the flow charl shown balow,

{ Organs in the Digestive System ]

o )

Does digestion B-nld' in
this organ? S J
[ Organ Q J —— ' :
~ Which anie of the following is correct?
Question P o
. rgan Q
(1) | Does it produce digestive juice? Small intestine
(2) Euas it lead food to the _stn::rrnacﬁ - Lar'gla I-r‘;t;;ﬁne
(3) | Does it break food into smaller pieces? Mouth
(4) | Does it remove water from undigesied food? . Smallintestine

A) 1
B) 2
C) 3
D) 4



Question 3 of 60 Primary 4 Science (Term 4) 2 pts

The arrow (---->) in the diagram below shows the direction of movement of a substance on
plants

roots ----> stem ----> |leaves

What is this substance?

A) soll
B) food
C) water

D) oxygen

Question 4 of 60 Primary 4 Science (Term 4) 2 pts

i nd both surfaces of the leaves
Sally spread a layer of clear cocking oil on the stem a
of ﬂyp&anl- The plant was then placad in the sun and walered every day.

Before
A few days later, she noticed that the plant had withered.

The plant withered because the layer of clear cooking oil prevented the plant from

e

A) exchanging gases
B) absorbing nutrients
C) absorbing water from the ground

D) transporting food to other parts of the plant



Question 5 of 60 Primary 4 Science (Term 4) 2 pts

The diagram shows twe differant types of plants, M and N, growing in a garden,

Which of the following statements are correct about plants M and N7

A Plant M has a weak stem.
B  OnlyplantNisa flowering plant.

C  The stems of both plants help the leaves to gel sunlight.

A) A and B only
B) B and C only
C) AandConly
D) A/BandC

Question 6 of 60 Primary 4 Science (Term 4) 2 pts
In which part of the digestive system is digested food absorbed into the blood?

A) mouth

B) stomach

C) large intestine

D) small intestine



Question 7 of 60 Primary 4 Science (Term 4) 2 pts

Two syringss, A and B, contain the same amount of substances F and Q
respectively.

The plunger in the syringe A could not be pushed in while the plunger in syringe B
could be pushed in slightly as shown in the diagram below.

syringe A

sealed end

syringe B

Which of the following substances are most fikelytoba Pand Q?

; e Y a
(1) air . ol
(2) oxygen carbon dioxide
(3) oil water
(4) water air

A) 1

B) 2

C) 3

D) 4



Question 8 of 60

(1)

Primary 4 Science (Term 4)

Study the classification table shown balow.

2 pts

Matter
| |
| |
Definite volume Mo definite volume
I I
[ I c
Definite shape No definite shape
| I
A B

Based on the information given above, which one of the following is correct?

i

(2)

(3)

4

A)
B)
C)
D)

A W N -

A B c
pebble waler air
pebble air water

i waler pebble air
water air pebble




Question 9 of 60 Primary 4 Science (Term 4) 2 pts

Michael filled three different containers with the same amount of water as shown
below.

What can he conclude from his experiment?

Liquids have mass,

Liguids occupy space,

Liquids cannot be compressed.

Liquids take the shape of the container.

O O m P

A) Aand C only
B) Band D only
C) A,BandDonly
D) B, CandD only

Question 10 of 60 Primary 4 Science (Term 4) 2 pts
Which one of the following is the best conductor of heat?

A) metal cup

B) paper cup

C) plastic cup

D) wooden cup



Question 11 of 60 Primary 4 Science (Term 4) 2 pts

The picture below shows a man pouring hot tea from mug A 1o mug B and back fo
mug A

The hot tea is cooled through this process of pouring and “pulling” it between the
iwo mugs. The man repeats these actions continuously for & number times.

The man did this to transfer haat from the

A) mugs to the tea
B) tea to the surrounding
C) surroundings to the tea

D) mugs to the surrounding

Question 12 of 60 Primary 4 Science (Term 4) 2 pts

The best way to tell if someone is having a feveristo

A) ask if the person feels warm
B) use a data logger with a light sensor on the person
C) use your hand and feel if the person's forehead is hot

D) use athermometer to measure the person's temperature



Question 13 of 60 Primary 4 Science (Term 4) 2 pts

i Yoo Jin left twe identical beakers X and Y in her living room.

o

200 cm? of
waler at 60 °C

Beaker Y

Which of the following graphs shows the likely changes in the lemperature of the
water in beakers X and Y7

(1) 2} \emperature

(°C)

(3) ; (4}

" temperafure 1T (emiperature T
(SC) (°C)

A) 1
B) 2
C) 3
D) 4



Question 14 of 60 Primary 4 Science (Term 4) 2 pts

Look at the [_:-Ictura below.

Which one of the following explains why Sue can see the book on the table?

> Direction
of ligit

A) 1
B) 2
C) 3
D) 4



Question 15 of 60 Primary 4 Science (Term 4) 2 pts

A shadow play is performed by placing a puppet between a screen and a torch.

SCreean ﬂ

tarch

puppet

\ shadow

The shadow cast on the screen can be made bigger by

A maoving the torch further from the puppet
B  maoving the torch closer 1o the puppet
C  moving the screen closer 1o the puppat
D  maoving the screen further from the puppet
A) Aonly
B) Donly

C) BandDonly
D) Band Conly



Question 16 of 60 Primary 4 Science (Term 4) 2 pts

(1)

(3)

A)
B)
C)
D)

An object is placed in front of a light source. A shadow i
S d g ig is formed on the screen

Which one of the following shows the object that could h
e ] ave been used to form

"]

(4)



Question 17 of 60 Primary 4 Science (Term 4) 2 pts

Sarah found a plant in the garden and measured its height.

N b Ned

At the start After two waeks

‘After two weeks, she measured its height again.

From her observation, Sarah concluded that the plant is a living thing because it can

A) grow

B) breathe
C) respond
D) make food

Question 18 of 60 Primary 4 Science (Term 4) 2 pts

Which one of the following can be attracted by a magnet?

A) iron rod
B) glass rod
C) plastic rod

D) wooden rod



Question 19 of 60 Primary 4 Science (Term 4) 2 pts

The diagrams below show a fern and some mushrooms.

Mushrooms

Which of the following statemients about the mushrooms and the fem is correct?

A) Both the mushrooms and the fern make their own food
B) The fern produces flowers but the mushroom does not
C) The mushroom reproduce by spores but the fern does not

D) The mushrooms and the fern needs air, food and water to survive



Question 20 of 60 Primary 4 Science (Term 4) 2 pts

Study the flow chart carefully.

Animals

Does it have
wings?

H

In which group should animal Q be placed?

A) E
B) F
C) G
D) G



Question 21 of 60

Primary 4 Science (Term 4)

The diagram shows a painting hanging on a wall.

nail

Steel is used to make nails because it

A)
B)
C)
D)

is shiny
is strong
is magnetic

sinks in water

painting

2 pts




Question 22 of 60 Primary 4 Science (Term 4) 2 pts

Tt"ﬂ; table below shows the properties of 4 different materials, W, X, Y and Z,

Allows most
light to.pass Waterproof Flexible
through :
W v + Key
X ¥ ; v ¥ @ presant
¥ v ¥
rad s W o

Which of the following materials, W, X, ¥, or Z, Is most sultable for making part A of
the fish tank shown above?

A) W
B) X
c) v
D) Z

Question 23 of 60 Primary 4 Science (Term 4) 2 pts
Which animal has a pupa as a stage in its life cycle?

A) frog

B) chicken

C) grasshopper

D) mosquito



Question 24 of 60 Primary 4 Science (Term 4) 2 pts

The diagram below shows the ife cycles of animals ¥ and Z.

/-{I\ oo -

| -H:ELI‘I larva
‘_‘ pupa f" =
Animal Y Animal Z

Based ' .
!!iﬂ the life cycles above, which of the following statemeni(s) is likely o be
Animal Y has 4 stages in its life cycle but animal Z has 3.

Animal Y lays eggs in water but animal Z lays eggs on land,

The young of animal ¥ looks like the adult but the youn
Z does not look like the adult. HpreEt

D Animal ¥ takes a longer time than animal 7
iy il s -an-adult—— - B . to liE\l'-Eh.p from an egg to

0O W »

A) Aonly

B) B and D only
C) A,BandConly
D) A/B,CandD



Question 25 of 60 Primary 4 Science (Term 4) 2 pts

In which of the following would the two-magnets push each other away?

(1) N S N -~ 8§

2) s|| N S
N

, _

(3) N &
N S

@ s
NN S

A) 1

B) 2

C) 3

D) 4



Question 26 of 60 Primary 4 Science (Term 4) 2 pts

Amagmtismadbhu&dapim&ﬂpaparmﬁm%ﬂ&buardmshmmbehw

FLE

part X

} paper

‘_-—-—1_—.>:.=£

— T

Which one of the following is part X of the whiteboard likely to be made of?

A) Iron
B) Plastic
C) Copper

D) Aluminium
Question 27 of 60 Primary 4 Science (Term 4) 2 pts
Raja has four magnets, A, B, C and D.

magnet was the strongest. The di
atiracted by each magnet. - -9

He camied cut an experiment to find out which
ram below shows the number of steel paper clips

Based on the diagram, which of the foliowing statements is correct?

A) Magnet D is the weakest

B) Magnet B is the strongest

C) Magnet B is weaker than Magnet D
D) Magnet A is stronger than Magnet C



Question 28 of 60

Primary 4 Science (Term 4)

Benny has three objecis, A, B and C as shown below.

A

Q_/\

He placed these objects into measuring cylinders, each containing 2mil

of water.

He compared their mass as shown below.

WHch of the following correctly identifies the objects with the Iargesl
volume and mass? ]

(1)
2)
(3)
(4)

A)
B)
C)
D)

Largest volume Largest mass
A ~C
B A
A B
B c

A W N

2 pts



Question 29 of 60 Primary 4 Science (Term 4)

Booklet B

0 pts

This section is designed for extended answers that parent/ teacher will have to assign

and guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final

score as it was designed in such a way that it requires manual assistance.

The diagrams below show two different organ systems in the human body.

B

Based on the diagrams, complete the table shown below. 2]
Substance that Name of system
Name of organ passes through the that the organ
...................... i foo . OFG@AN...._ | belongsto |
b 4 windpipe —
Y food

Please press "done" to proceed to the next question

Question 30 of 60 Primary 4 Science (Term 4)

Name another organ in the digestive system where digestion does not take place



Question 31 of 60 Primary 4 Science (Term 4) 1 pt

Beside digested food, name two substances that are carried in the blood to all parts of the
body.

Question 32 of 60 Primary 4 Science (Term 4) 0 pts

Gina prepared four experimental set-ups (A, B, C and D) with plants as shown
below. She wanted to know whether plants take in water through their roots.

ke /
air-tight plastic bag

A B Cc D
The roots of the plants in set-ups B and D were tied with air-tight plastic bags at

the start of the experiment before putting into the beaker of water. Each set-up
had the same amount of water.

Can she use set-ups B and D to conduct a fair experiment?
' [2]

-Explain your. answer.

Question 33 of 60 Primary 4 Science (Term 4) 0 pts

Gina uses set-ups A and B to conduct a fair experiment.
What is she trying to find out from this experiment?



Question 34 of 60

State another function of the roots

Question 35 of 60

Classify the following into matter and non-matter.

heat water

shadow

Primary 4 Science (Term 4) 0 pts

Primary 4 Science (Term 4) 0 pts

[3]

Matter

MNon-matter

"done" to proceed to the next question

Please type



Question 36 of 60

Three plastic containers,

Primary 4 Science (Term 4)

X, ¥ and Z, are inverted into a basin of water as shown
below. A hole is made on containers Xand Y.

holes

ey g

NG

I_'_..-"'
basin
water level

Container X

Draw the water levels

Please type "done" to

Question 37 of 60

Explain your answer for

Container ¥ Container 2

in containers X and Y in the diagram above.

proceed to the next question

[1]

Primary 4 Science (Term 4)

the water level in container X in part (a)

0 pts

0 pts



Question 38 of 60 Primary 4 Science (Term 4) 1 pt

The diagram below shows a glass of waier,_

Fill in the blanks using the correct words in the box. : [2)

{a) When the water gains heat, ils temperature

Question 39 of 60 Primary 4 Science (Term 4) 1 pt

The glass of water is put in the freezer. After some time, the water will change its state to
become



Question 40 of 60 Primary 4 Science (Term 4)

Ahmad wanted to find out which material, P, Q, R or 8, is the best conductor of
heat. He set up his experiment in the Science room as shown below.

thermometer

hot water

material to
be tested
‘The table below shows Ahmad's results.
Time Temperature of the water (°C)
(min) Material P Material Q Material R Material §
0 60 60 60 60
10 55 40 45 58
20 50 i 22 ° 31 55

State the source of heat in this experiment.

Question 41 of 60

(1]

Primary 4 Science (Term 4)

Using the information given on the table, state which material P, Q, R or S is the best
conductor of heat.

Give a reason for your answer.

0 pts

0 pts



Question 42 of 60 Primary 4 Science (Term 4) 0 pts

The diagram below shows Mary using a pair of oven gloves to remove a hot tray
from the oven.

oven glove
oven

hot tray

Which material, P, @, R or S, would be most suitable to make the oven gloves? [2]

Explain your answer.



Question 43 of 60 Primary 4 Science (Term 4) 0 pts

.. The diagram below shows a desert.

A desert is a hot and dry place that has a lot of sand and few plants.

%
\\\\‘N\.

Al I ! \‘{ ”.'“k j E i, f]
- . | t;ﬁ \d\ w10 11 .| !' 1] .. |I ||'|I|||I
A - - 1 | '- : | |I
I ' Tak ""“ L :-- : = "
A e 2.5 1.‘_ ".\,_ % e i
u --". 3 \_- P an X ; :
=

lizard

The table below shows the temperature of the-sand at a particular time of the

day.

Time Temperature at the Temperature
surface of the sand (°C) underground (°C)

12 noon 38 14

3:1.5;';}-‘:

Diagram Y

During the day, the lizard will bury itself in the sand as shown in diagram Y,

Using the

information given in the table, explain how burying itself in the sand helps the lizard to stay

cool



Question 44 of 60 Primary 4 Science (Term 4) 0 pts

A metal lid was fitted tightly on a glass jar.

Mani placed the metal lid and part of the glass jar into a container of hot water
as shown in the diagram below.

glass jar

metal lid

e

hot water —————

N - - = = = = = = - — =

After a few minutes, Mani could remove the metal lid easily. [2]

Explain why.



Question 45 of 60 Primary 4 Science (Term 4)
Ali set up an experiment as shown below.

material

torch light sensor

meE | | =R

1 e
- -

d

ga wanted to find out how much light passes through four materials, A, B, C and

The same light sensor was used to detect the amount of light that passed through
. each material. He recorded his results in the bar graph below.

Amount of light
detected by light
sensor (lux)
&

A B ¢ D
Material :

Which of following variable(s) must be kept the same so that his experiment
would be a fair test? i

Place a tick (v') in the box if the variable must be kept the same.

A) Distance between the torch and the light sensor,d
B) The thickness of the material

C) Type of material

2 pts



Question 46 of 60 Primary 4 Science (Term 4) 0 pts

Ali wants to make window curtains that would keep his room as dark as possible

Based on the information given in the bar graph, which material A, B, C or D should Al
choose to make his window curtains?
Explain your answer.

Question 47 of 60 Primary 4 Science (Term 4) 0 pts

Daisy was walking from point C to D and then to E as shown in the diagram
below.

The length of her shadow changed as she walked past points C, D and E.

lamp post

: Daisy

@ L A 4
Cc D E

Desunba how the iangth of Da:sy 5 shaduw changed as she walked from point [1]
C to point D to point E.



Question 48 of 60 Primary 4 Science (Term 4) 0 pts

In a lighted room, wooden sheets A, B, C and D are placed in a straight line as
shown in the diagram below. Tim is looking through the holes of the wooden

sheets,
ﬂ B
star

Tim's
:D- eye

A kﬂ c D
wooden sheets /

Will Tim be able to see the star on the other side of the wooden sheets?

. [2]
Explain why.

Question 49 of 60 Primary 4 Science (Term 4) 1 pt

Which wooden sheet (A,B,C or D) must Tim remove in order to see the star at the other end.

A) A
B) B
C) C
D) D



Question 50 of 60

Match the options below to the correct groups

1.1

2.1

3. [

]

A.

B.

C.

Primary 4 Science (Term 4)

bird

mammal

fish

3 pts



Question 51 of 60 Primary 4 Science (Term 4)

Ben carried out an experiment to lest how well each material can absorb water.

Materials A, B, C and D, which are of the same size and thickness, were
immersed in a tray of coloured water.

The results of his experiment are shown in the diagram below.

r

s,

retort stand

ek
coloured water

raincoat

Based on the results of the experiment, which material, A, B, C or D, is the most (1]
suitable for making a raincoat shown above?

Explain your answer. : -

Question 52 of 60 Primary 4 Science (Term 4)

Ben suggested that material B is plastic. Is he correct? Explain your answer

0 pts

0 pts



Question 53 of 60 Primary 4 Science (Term 4)

Jane conducted an experiment with the set-up shown below. She hung cubes of
different masses on the string until it broke. She repeated the experiment with
strings made of materials, S, T and U. The strings are of equal thickness and
length.

o=

[ ]
string
A
retort stand ——— B cube
)

The results of the experiment are shown in the table below.

Strin Mass of cube needed to break
g the string (kg)
b 3 .
T 5 )
U ]
~ State'the property of the string Jane is testing. [1]
Question 54 of 60 Primary 4 Science (Term 4)

The diagram below shows a lantern that has a mass of 6 kg.

P — L q

' 'I _ part X

=

Based on the results of the experiment, which string;S;-T-or U is most suitable [1]
to make part X of the lantern? Explain ycur answer. :

1 pt

0 pts



Question 55 of 60 Primary 4 Science (Term 4)

A metal rod XY is placed near a bar magnet.

End X is attracted when it is placed near to the North Pole (N) of the m
tre net, and
also when it is placed near to the South Pole (S) as shown in the diagr:r%s below.

X Y

atiraction

5 8]

attraction
Another metal rod PQ is also placed near the same bar magnet.

End P repelied when it is placed near to the North Pole (N) of the magnet as
shown in the diagram below.-

P Q
N | —
repel
s
In the boxes below state what will be observed when end ¥ and end B are
brought near the South Pole (S) of the bar magnet. (1]
Write
repel or attract
(i) end Y brought near South Pole (S) l ot : 1 o
A) attract
B) repel
Question 56 of 60 Primary 4 Science (Term 4)

end P brought near South Pole (s)

A) attract
B) repel

0.5 pts

0.5 pts



Question 57 of 60 Primary 4 Science (Term 4) 0 pts

The diagram below shows three identical plastic cups with object X in each one of them.

The cups are attached to three identical springs.

18 cm

r___; magnet A — magnet B

When magnets A and B were placed directly below the plastic cups, it was observed that the
springs stretched longer as shown in the diagram above.

Explain why the springs stretched longer. 1

Question 58 of 60 Primary 4 Science (Term 4) 0 pts

Which magnet, A or B, is stronger? Based on the diagram shown above, explain your
answer.



Question 59 of 60 Primary 4 Science (Term 4) 1 pt

The diagram below shows the stages in the life cycle of a plant.

A B =

T

Name the stages A and C in the life cycle of the plant.

A

A) egg

B) seed

C) young plant
D) adult plant



Question 60 of 60

C:

A)
B)
C)
D)

€gg
seed

young plant
adult plant

Primary 4 Science (Term 4)

1 pt



